
 

 

 

 

 

 

Q1. By how much is 87 greater than 72 ? 

Q2. By how much is 236 less than 496? 

Q3. Armaan scored 6872 points in a game and vivek scored 8994 points. What was the 

difference between their scores? 

Q4. A baker has to bake 2850 cup cakes . If he has baked 1320 cakes, how many more does he 

have to bake? 

Q5. Susan and Raj reached the finals of a music contest. Susan got 6278 votes and won by 155 

votes. How many votes did Raj get?  

Q6. Simi’s mother is 31 years old .Her grandmother is 58 years old .What is the difference in age 

between them? 

Q7. On Sunday , 57 children took the toy-train ride at a park .On Monday ,25 less children took 

the ride .How many took the ride on Monday? 

Q8. India scored 124 runs more than Sri Lanka. If India scored 358 runs, how many runs did Sri 

Lanka score? 

Q9. Of the 956 students in a school , 523 play football. How many do not play football? 
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                                                            ANSWER  KEY 

SOLUTION 1: 

     8    7 

-    7    2 

       1    5 

  

87 is 15 greater than 72. 

SOLUTION 2: 

        4      9    6 

  -     2       3    6 

       2      6      0 

 

     236 is 260 less than 496. 

SOLUTION 3: 

The difference between their scores = 2122 

    8    9    9   4 

-    6   8    7     2 

     2    1           2    2 



 

 

 

 

SOLUTION 4: 

Number of cup cakes baker has to bake more = 1530 

   2    8   5 0 

-1    3   2  0 

 1    5   3  0 

 

SOLUTION 5: 

Number of votes Raj get = 6123 

   6   2  7  8 

  -    1    5   5 

   6   1    2   3 

 

SOLUTION 6: 

Number of children took ride on Monday =  32 

    5    7 

  - 2   5 

    3   2 

 



 

 

 

 

SOLUTION 7 

Sri Lanka scored runs = 234 

     3     5   8 

  -   1     2    4 

     2     3    4 

 

SOLUTION 8: 

Number of  students do not play football = 433 

      9     5    6 

   -  5     2     3 

      4     3    3 

 

 


